BC cCalcvlug
Chopter 9
Review

No Ca,\c.uh%‘bf‘ i

- . 2345 6 |
|) Write an explicit formula for the sequence 2712219 23 Then find a,,.
VA e,
~ reeRPUT s o n+l 15 )
/A’/L_l =a,_ (— n ’Eg Mﬁi?j@. _/{/1
ais D g =—n_. 14
" n2+3 199 " n3—12743

Tno‘l’ expl et

2) Write the explicit formula for the sequence. Then find the fifth term in the sequence: a, = 3,r = -3,

-\
A a,=3 (31243 C a, =3-(3n;243 an= 3(-3
B a,=-3-(3»1,-243 D a, =3 (=3 -729
3) . Determine whether the sequence defined by -
ey " Con ( 2
X n=> 00
an=x2cos(n—2+§) .0
. 2 "T
converges or diverges. If it converges, find its limit. l c_oﬁ n.‘ @)
N
Y2 O
a. 2 ) c 0 n->00 n
’ \( e. Diverges
b. -1 d = L’h&P‘
- -3
w—sin (2= TDE )
N-=>00 B '
- zn 3

m k0
nsao “2sn ( ¥nr - /75
= -2



, I

I £ ‘ A f — e .
4) The sequence g, = sin%‘ _ 4;9 o v
(A) isunbounded  ~B)it-RORGORIOm —

(C) converges to a pumber less than 1

(B) diverges to infinity e

) isbounded )

G+m)? ) s
5) If 5, = e G | to what number does the sequence {s,} converge? \a93 e
= IR GARY
1 “-\_\ 5 5100
-.__(A) 3 ;. B) 1 © 2 (D) (Z) (E) The sequence does not converge.
o e (e et
S - " g+ n}m’ \ P
" 5" s ( oo 8 (no°«.
-1
_ (5 +n) \ o
- Sl el
s (4+n
k
(.o) If k is a positive integer, then lim X s 1938 9C 33
x—+o ¥
C @) 0 ®) 1 © e (D) k! (E) nonexistent
g

X

w I OW% X



|

!
®xwll 2 one on e

7 . » . ‘ . ‘
§ Show which function, Inx or log,x grows faster. vesd  ond ol ROT e
motd | pE ¢ Motee .

Wy X b
N=>00 'oa 2% oo
(iTaa! Y x )

nsw yXInZ

= In2 grow of same  wie
‘K
lim cotx
2) x——>0+ Inx } N '
(@A) —= ) ® -1 ©o M1 (E) < Z B = : -
o vom =X \
_?3___ x>o% s\nz)( |
- Lo _ - { I B
. w507 258 nxco3X ) ot -0
\im - ¥
x>0" VX
(Aleg r
= -Xese X w -
xs0” e
Ci) 1 cos (2x) o 793 B 37 |
x>0 o
@ -2 ®) 0 © 1 ®) 2 (® 4 |
fum) - Zc,os (..’Z.")C :5“’1(2%;(% * nled  chaanm
X =0 ,23<
hm 2 cos(@d SM(29) S
X S0 X &
tm 2 ~51n(22)(D an %) + coslx) eos (2X)C 2))
i e e =7,

I

Hivan -L’ 3\;«.{‘(2’0 “ b wszczx)
X =

O w b



sin(x—E) o
4) . = 19%3 BL 29

1 T m——

A 0 B) E (9] a iD) I (E) nonexistent

W cos(x-T74)
xS Tr/q ‘

I

cos 0

]

\ . tan3x=
\') x—0 2.7(3

ole

!
~
(@]
S’
wiN

1
Ao B)

X350 ~

Ha g 199 pC 2%

) D) e (E) nonexistent



S \\
b. Di t
Divergen )

-

a. 0 c 1
b. -1 d 1
2
tim : x ttm b
i
b 00 S)Xf’ e o3 O Yedu
0 -] 2
U= x Yo L C’.u. l
du = 2xdx S
, 2
L - X 1% b A s
fad fﬂoﬂls |
2 52 S $>1 BpC 7
B) mh2 © 1 D) 2 (E) nonexistent
b
him _
b S0 S » : dx
2
°
$1%) -1 \
- A
b =00 e
L, —%_'—
b =00 ®



I .‘_f.
-
2 N, T
j 7 L v - 7 —= ——

-

. SR

wiirte e (@12 ) =1
X dx
M Ioe dx E) I;j;—

) 55 Whié)f the following improper i%ls diverges? l?

nm - X —t
b0 c

° = i §e.’(dx
o

G2~
- (ot - W L
B 300 00 |
dwcxac
“ b “‘ - 0 . \ \
\M AR - A\ ‘/1
pap OC dx \ a>0" &o X
‘b
o e - (R Ve
g0 & T a3t 2% |
=1
w)
o - TGN -
\"‘93 J"1—+2x_2dx T ave (2 za
=2
a. 0 C -’21

¢. Divergent

o a
\+x1 \4—,‘7'
- (]
-]
() > 2
i 5 - Ax + Ly ~ ax
adoo O 1% bS0s 3 %
-]
tim > -\x ‘6 Lim 7-'(:&"\-\>< t
+

G ~0D o (/) 706 ®

b - =1 . - -
a-:\-m Z-l;tm\o - 2kan 6+ b\‘:oo T 246" o

Z(JT/Z> + 7—(“"-/2) -
™ 4T



